2014南平中考化学试题
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参考答案：

[image: image8.png]#|S 10 20 30 40 50 6° 70 8o 9o | 100 |7

BE| Do | A0 | Co| A0| A0 | C Do Co| Bo| Bo |

13,

4.

(UTEERSAD, LEHFEANA IS, HRRERSY, E=WH2 ) ©
< EES5EE (REsE £058) ¢

(645 ¢
Wac & 19
@O 3 3 (F19
Ca(CiO): .
L (843 ¢
O —REBPEEFENOETE KNO;  (HETREER)
(@) 60, 6Hy0 55> CsHnOs=60; e ST Y
) o
O ARF (HETREER) ¢

@ b0 EE -0, .
@ RIBH CLES—FIIRFRLEENERLRY (HETREER) ©
(755 ¢

(1) Ca(OH);=CO; == CaCOs } +H:0 ¢
@ FEETMBRERARE: (HETREER) ©
® co
BECIE- R
o i s Zn+H;S0:—ZnS0: <Hy

@ e (153) (RECREEHR) RET
(3) 2NaOH ~ H;S0: — NaSO: = 2H;0¢
o) ERAEEMENRE. SRINETIRENGS (5




[image: image9.png]- XBRSEREE 2/, 25 ¢
16 (104) @

W #RE (15«

@ A (15) DHE (1%) MnO.

@ fEfER 2KCIO; TR 2KC1=30y1¢

o

o) TEEEbSAIER (HETREER) ©
17 (1143) «
WB C
@A B
@) BB R MBI E ER T (HETREER) ©





[image: image10.png]m. $HS5IHE (KE 2/

19

W > (1) NH:HCO; SNH; 1+ B0 = €01«

® B (15

E3LESRY
455 o

o |rE

@ 15:30

(655 ©

W 160

@ @ % N0, MFEN x ¢

2 H:0 = 4NaOH - O:Ty

k2
x 1.6
156:32-x 1 16g
x=7.8¢
78g0
EEUNNRESE = X100% = T84
10g0

& IEUNNARRSIN 78%. o

(HETREER) ©

(HETRE

o
%@
N

o
(15
[SECRY
[SECRY

XHERET Q)






6

